INBT2B.1

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Which number has the digit 5 in the tens place?
a. 56 b. 65

2. Which number has the digit 4 in the ones place?
a. 47 b. 74

3. Which number has the digit 8 in the ones place?
a. 81 b. 68

4. Which number has the digit 5 in the ones place?
a. 52 b. 75

5. Which number has the digit 5 in the ones place?
a. 75 b. 58

6. Which number has the digit 9 in the ones place?
a. 91 b. 79

7. Which number has the digit 7 in the tens place?
a. 17 b. 70

8. Which number has the digit 6 in the tens place?
a. 64 b. 46

9. Which number has the digit 7 in the tens place?
a. 78 b. 87

10. Which number has the digit 9 in the tens place?

a. 97 b. 79

Answer 1: A
Answer 2:B
Answer 3:B
Answer 4:B
Answer 5: A
Answer 6: B
Answer 7:B
Answer 8: A

9:A

Answer
Answer 10: A



